Q1.

Q2.

Q3.

Q4.

Q5.

305 + = 521

176 - 49 =

136 + 62 =

1000 - 143 =

156 + 83 =

Q6.

Sadi needs 26 cartons of juice for her party.

There are four cartons in a pack.

How many packs does she need to buy?

packs




Q7.
Write 3 of these numbers in the empty boxes.

The numbers in the boxes must be in order.

309 410
908
701 1000
998 340
largest smallest

Q8.

Match each number in a box to the nearest 10

to the nearest 10 is

140

130
168

180
142

160
131

150

120



Q9.
Megan is 109cm tall.

Sunil is 137cm tall.

How much taller is Sunil than Megan?

cm

Q10.

Harry leaves school at

He gets home at

How long does he take to get home?

minutes




